
CBSE CLASS X BIOLOGY
Life Processes - 1
One mark questions with answers
Q1. Which of the blood cells is phagocytic in function?
Ans1. WBC.
Q2. What is pulse rate?
Ans2. It is defined as the periodic jerks felt in the superficial arteries per unit time due to the pumping of blood from the heart and it depends on the rate of heart beat.
Q3. Name one organism which shows anaerobic respiration.
Ans3. Tapeworm ( It is an endoparasite).
Q4. Name the organ of respiration in earthworms.
Ans4. General body surface.
Two mark questions with answers
Q1. What is compensation point in photosynthesis?
Ans1. When photosynthesis and respiration proceed at the same rate in the plants, then the carbon dioxide produced during respiration is utilised for photosynthesis. The plant during the currency of this process is said to be at compensation point. There is no net loss or gain of carbon dioxide at this stage. This happens during early hours of morning or evening.
Q2. Is respiration same as breathing. If not why?
Ans2. No, respiration is not same as breathing, because respiration includes both breathing as well as oxidation of food inside a living cell. Breathing is an exchange of gases in the respiratory organ by diffusion. In this way respiration includes both, a physical process and a biochemical process while breathing is a physical process. In breathing no energy is released while in respiration energy is released in the form of ATP.
Q3. The food passes in the gut by peristalasis. Explain.
Ans3. In the gut the food passes by the contraction and relaxation of muscles present in the wall of the alimentary canal. Muscles are circular and longitudinal. Due to the contraction and relaxation of these muscles a wave passes through the gut resulting in pushing of food through it.
Q4. How does excretion take place in plants?
Ans4. The waste products like carbon dioxide, oxygen and water are excreted by the plants through stomata in leaves, lenticels in stems or hydathodes in leaves. Other waste products like gums, resins, mucilage & latex are not so poisonous and are stored in the cells. Roots may excrete mineral salts and sugar. Leaf and bark shedding is also a method of getting rid of waste substances. Plants, therefore, have no specialised excreting organs.


Three mark questions with answers
Q1. Write the functions of pancreatic juice in digestion.
Ans1. The pancreatic juice contains enzymes like trypsin, amylase and lipase. Trypsin acts on proteins and converts it into peptides. Amylase acts on starch and converts it into maltose. Lipase acts on fat and converts it into fatty acids and glycerol. Pancreatic lipase is the main fat digesting enzyme in our body.
Q2. Write the importance of photosynthesis to the biosphere.
Ans2. Photosynthesis is the only process through which energy enters the biosphere and so it is rightly said "All life is bottled sunshine".
Importance of photosynthesis :
1. It is the source of energy for all living organisms.
2. It releases oxygen to maintain its amount  in atmosphere.
3. It is necessary for the synthesis of many organic compounds used by man and other animals.
4. All useful plant products are derived from the process of photosynthesis. Examples rubber, drugs and oil etc.
5. Fossil fuels are also indirectly the result of photosynthesis.
Q3. Compare breathing and tissue respiration.
Ans3.
	Breathing 
	Tissue Respiration

	1. It is simply a physical process of intake of air (rich in oxygen) and removal of air(rich in carbon dioxide).
	1. It is a biochemical process in which glucose is oxidised into carbon dioxide  and water.

	2. No energy is released in the process.
	2. Energy in the form of ATP is released.

	3. Enzymes are not involved in the process.
	3. A large number of enzymes are involved in the process.

	4. It occurs outside the cells, hence it is an extra - cellular process.
	4. It occurs inside the cells, hence it is an intra-cellular process.


Q4. Compare photosynthesis and respiration.
Ans4.

	Photosynthesis
	Respiration

	1. It occurs in green plants only in the presence of chlorophyll and sunlight.
	1. It occurs in all plants and animals in the presence of oxygen, or even in the absence of the latter.

	2. It is an anabolic process and builds up complex compounds from simple inorganic compounds.
	2. It is a catabolic process in which complex substances are broken down into simple substances. 

	3. It occurs only in the presence of sunlight.
	3. It occurs both in light and dark.

	4. It occurs in the chloroplasts of the cells.
	4. It occurs in the cytoplasm and mitochondria of the cells.

	5. It releases oxygen.
	5. It releases carbon dioxide.


 
Five mark questions with answers
Q1. Trace the various steps of digestion of food from the time it is swallowed in mouth to the time it gets absorbed by cells.
Ans1. The food is masticated by the teeth in the mouth. It gets mixed with saliva which contains salivary amylase and digests the starch of the food into complex sugars. The ball of food called bolus, is pushed down through oesophagus into the stomach. Gastric juice is mixed here which contains rennin to coagulate milk protein and pepsin to break proteins into polypeptides and HCl to give an acidic medium.
The food in a semi-solid state is now called chyme and passes into duodenum. Here it is mixed with bile from liver to emulsify fats and pancreatic juice from pancreas. Pancreatic juice contains amylase to convert remaining starch into maltose, trypsin to convert proteins into polypeptides and lipase to break down emulsified fats into fatty acids.
The semi-digested food now passes down the small intestine where intestinal juice is mixed with it. It contains maltase to convert maltose into glucose, erepsin to convert polypeptides into amino acids, sucrase to convert sucrose into glucose and fructose and lactase which converts lactose (milk sugar) into glucose and galactose. The food is now completely digested. Amino acids and simple sugars are absorbed by the blood capillaries of the villi of small intestine, while fatty acids and glycerol are absorbed by the lacteals. The blood vascular system distributed the food round the body and it is finally absorbed by the cells.
Q2. Define nutrition. What are the various types of nutrition?
Ans2. Nutrition is the process by which living organisms take its food to obtain energy which is utilised for various life processes of the body.
They are two types of nutrition :
(a) Autotrophic
(b) Heterotrophic
(a) Autotrophic nutrition is the taking in of simple inorganic materials like carbon dioxide, water and synthesising simple sugars in the presence of chlorophyll and sunlight. This process takes place in green plants and is called photosynthesis.
(b) Heterotrophic nutrition is taking in of complex organic materials like carbohydrates, proteins, fats and breaking them into simple inorganic materials to use the trapped energy in the food.
Heterotrophic nutrition is of three types.
(i) Holozoic type is found in animals which take ingest complex organic material prepared by green plants or feed on animals which feed on green plant and then digest this food to get energy and body building materials.
(ii) Saprophytic organisms take in food from other dead and decaying organic matter by initially solubilizing then with the help of extracellular enzymes. Example - Fungi like moulds, mushrooms and yeasts.
(iii) Parasitic organisms are those which take in food from other living organisms by living inside or on their body. Example - Malarial parasite living inside human blood.
Human lice and rat flea are ectoparasites.
Q3. Differentiate between the following :
1. Lymph and Blood
2. Imbibition and Osmosis
3. Anabolism and Catabolism
Ans3.
1. 

	Blood
	Lymph

	1. It consists of plasma, leucocytes and platelets.
	1. It consists of plasma and leucocytes.

	2. It is red in colour due to the presence of haemoglobin.
	2. It is colourless as haemoglobin is absent.

	3. Its plasma has more proteins, calcium and phosphorus.
	3. Its plasma has fewer proteins and less calcium and phosphorus.

	4. Glucose concentration is less in blood
	4. Glucose concentration is higher in lymph.

	5. It carries materials toward and away from the tissue, therefore, it acts as a 'vehicle'.
	5. It transfers materials from the blood to the body cells and vice-versa, therefore it acts "middle man".


2.
	Imbibition
	Osmosis

	1. It involves the absorption of solvent or water by a solid substance.
	1. It involves the movement of water or solvent from its higher chemical potential to lower chemical potential.

	2. A semi-permeable membrane is not required.
	2. A semi-permeable membrane is essential for the operation of osmosis.


3.
	Anabolism
	Catabolism

	1. The building up or synthesising processes during chemical activities in the living body are grouped under Anabolism. Example -   Photosynthesis.
	1. The breaking down processes are called catabolism. Example -  Tissue respiration.


